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% R R - BARSTiE BfL % B B ® # m o=
E#R 5,160, 638
ICTE£FRAL-BERRRRFEDOHILIR 5,160, 638
ICTEEFRAL-BERRARFEDOHILIR 5,160, 638
ICTHZFAL-BERRRRFROMELR 4,174, 300
HREES 415, 450
1-1 StE#£H 1.00 415, 450 415, 450
=
ERIRERE 518, 500
1-2 BFEmNEREE 2.00 259, 250 518, 500
EH
[CTHZERALIERRBRDOBRE 2,248,500
1-3 BRfTHREICH T 5 ERA ED&RE 1.00 1,097, 400 1,097, 400
=
1-4 bR mARETE DK E 1.00 766, 200 766, 200
=
1-b & DEE 1.00 384,900 384, 900
=
e - W& 540, 500
1-6 HEAIHE 1.00 117, 400 117, 400
=]
1-7 RS 2.00 117, 400 234, 800
=]
1-8 &BMmE 1.00 188, 300 188, 300
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NRAKRESDOER 17, 800
1-10 2RARREROER .00 17, 800 17, 800

=
EERE 986, 338
EHALE 36, 338
1-11 EXARE .00 36, 338 36, 338

=
AR 50, 000
1-12 ¥%HRES .00 50, 000 50, 000

=
WHMERE 900, 000
1-13 HHERE .00 900, 000 900, 000

=
BEiZHEE 11, 305, 783
I CTEZRVW-RiAE 11, 305, 783
I CTEZRVW-RiAE 11, 305, 783
BifAZEQDO (HEH) 6, 347, 691
UHEEESAE 1,114, 601
2-1 2 EESAE .00 179, 985 899, 925

=1
2-2 MWRES .00 125, 989 125, 989

=
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=
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2-5 BHRES 1.00 38, 840 38, 840
=

2-6 HiifEEE 1.00 60, 008 60, 008
=

UAVL—HEIE 2,640, 832

2-7 YE%ETE 1.00 139, 680 139, 680
%75

2-8 UAWL—HRIZE 0.07 24, 428, 000 1,709, 960
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2-9 BHRES 1.00 638, 000 638, 000
=

2-10 BT EEE 1.00 163,192 163,192
=

FTILVEBRER 1,846, 071

2-11 #Z5tE 1.00 71,490 71,490
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2-12 ALV ERZER 2.37 568, 412 1,347,136
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BEESAE 222,919
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=
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=
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=
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=
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=
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REXEE 1,482,580

2-32 REXEE meE (EEQRS) 1.00 467, 839 467, 839
=®

2-33 REXEE EBE (RESAS) 1.00 261,975 261,975
=®
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=®
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%
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EFRRERERE 138,000
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BEEAGE 4,174,300
BE#RE 986, 338
T DR 4,174,300 x 53.85% ( 35% = (1 — 35%) ) 2,241, 860
BRI 5,160, 638 + 2,247, 860 7,408, 498
—REERF 7,408,498 x 53.85% (35% = (1 — 35%) ) — 7,974 3,981,502
KBS 7,408,498 + 3,981,502 11,390, 000
EEAEE 11, 305, 783
HEHE 11,305,783 x 65.3% — 8,459 7,374,217
AEEEE 11,305,783 + 7,374,217 18, 680, 000
BB E TS 18, 680, 000
B EHEAE 11,390,000 + 18, 680, 000 30, 070, 000
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&% FrEEE 14y
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HEnE
A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1YE%HeH - 1.00K 415, 450. 00 415, 450
&5 :1-2
2% BFEERINEEE 1IEEHY
2 b g - BIRTE By = BHO(f ) # " =
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.50 45, 300. 00 113, 250
g
A 2.00 31, 600. 00 63, 200
& B 1E%HEH - 1.001EH 259, 250. 00 259, 250
&5 :1-3
ZF5 : HTRERREICx 3 B ERAEDRE IEED)
2 b g - BIRTE By = BHoO(f ) # " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 5.00 55, 200. 00 276, 000
HEm (B)
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2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.00 55, 200. 00 110, 400
e (B)
A 5.00 45, 300. 00 226, 500
AR (C)
A 5.00 35, 600. 00 178, 000
g
A 5.00 31, 600. 00 158, 000
& B 1YE%HeH - 1.00K 766, 200. 00 766, 200
&5 :1-5
%5 SEORMHE 1LY
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.00 55, 200. 00 110, 400
e (B)
A 4.00 45, 300. 00 181, 200
& Hi 1E%HeH - 1.00K 384, 900. 00 384,900
&5 :1-6
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2 b g - BIRTE By = B Ol ® # " =
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A 1.00 62, 200. 00 62, 200
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2 b g - BIRTE By = B O ® # " =
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A 1.00 62, 200. 00 62, 200
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A 1.00 55, 200. 00 55,200
& B 1YEZHEH - 1.00[E 117, 400. 00 117, 400
&5 :1-8
£ EW|E HEED)
2 b g - BIRTE By = B O ® # " =
HEnE
A 1.00 70, 900. 00 70, 900
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 188, 300. 00 188, 300
&5 :1-9
25 MESERK 1LY
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
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A 2.50 55, 200. 00 138, 000
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AR (C)
A 2.50 35, 600. 00 89, 000
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&5 :1-10
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& Hi S .00 17, 800. 00 17, 800
&5 1-11
2% EHARE 1LY
2 b g - BIRTE By = BHO(f %8 # i
EXERARE
= 1.00 36, 338. 00 36, 338
& Hi 1E%HeH - 1.00K 36, 338. 00 36, 338
&5 :1-12
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f %8 # i
EBHRERERE
= 1.00 50, 000. 00 50, 000
& Hi 1E%HeH - 1.00K 50, 000. 00 50, 000
&5 1-13
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BIEFEHEM
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A 19. 50 44,000. 00 858, 000
Bl S H A
A 19. 50 34, 300. 00 668, 850
BIEWHEE
A 3.50 217,000. 00 94, 500
& Hi 179, 985. 00 1,799, 850
&5 :2-2
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2 b g - BIRTE By = BHO(f %8 " =
MR EE
= 1.00 125, 989. 00 125, 989
& Hi 125, 989. 00 125, 989
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BIEFEHEM
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A 16. 50 44,000. 00 726, 000
Bl S H A
A 17.50 34, 300. 00 600, 250
BEBF
A 11.50 32, 200. 00 370, 300
& Hi 1YEZRES £ 20.005 92, 477.00 1, 849, 550
&5 :2-5
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2 b g - BIRTE By = il %8 " =
MR EE
= 1.00 38, 840. 00 38, 840
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BIEFEHEM
A 1.30 51, 000. 00 66, 300
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A 1.20 44,000. 00 52,800
Bl S H A
A 0.60 34, 300. 00 20, 580
& Hi VEZERED ¢ 1. 0075 139, 680. 00 139, 680
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A 25.10 44,000. 00 1, 104, 400
Bl S H A
A 24.00 34, 300. 00 823, 200
BEBF
A 16. 00 32, 200. 00 515, 200
& Hi 1YEZHES - 0. 10km2 24,428, 000. 00 2,442,800
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2 b g - BIRTE By = BHO(f %8 # " =
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= 1.00 638, 000. 00 638, 000
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A 4.00 34, 300. 00 137, 200
BEBF
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HAETHEE FHE+HEEED%
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2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 3.50 51, 000. 00 178, 500
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2 b g - BIRTE By = il %8 " =
BIEFEHEM
A 3.00 51, 000. 00 153, 000
RIS HRER
A 16. 50 44,000. 00 726, 000
Bl S H A
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BEBF
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2 b g - BIRTE By = il %8 " =
MR EE
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A 1.20 44,000. 00 52,800
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2 b g - BIRTE By = BHO(f %8 # " =
RIS HRER
A 25.10 44,000. 00 1, 104, 400
Bl S H A
A 24.00 34, 300. 00 823, 200
BEBF
A 16. 00 32, 200. 00 515, 200
& Hi 1YEZHES - 0. 10km2 24,428, 000. 00 2,442,800
&5 :2-22
21 BHRES 1LY
2 b g - BIRTE By = BHO(f %8 # " =
MR EE
= 1.00 458, 000. 00 458, 000
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2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 0.80 51, 000. 00 40, 800
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A 0.60 44,000. 00 26, 400
Bl S H A
A 0.30 34, 300. 00 10, 290
& Hi VEZERED ¢ 1. 0075 71, 490. 00 717, 490
&5 :2-25
L ALYV ERER Tkm Y
2 b g - BIRTE By = BHO(f %8 # " =
RIS HRER
A 4.00 44,000. 00 176, 000
Bl S H A
A 4.00 34, 300. 00 137, 200
BEBF
A 4.00 32, 200. 00 128, 800
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% 1.00 442, 000. 00 4,420
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& Hi 1YEZHES - 0. 10km2 12,073, 700. 00 1,207,370
&5 :2-29
B ZRET—R2 774 IAERKR 0. Tkm2% 1)
2 b g - BIRTE By = BHO(f %8 # " =
RIS HRER
A 1.80 44,000. 00 79, 200
Bl S H A
A 3.30 34, 300. 00 113,190
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